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Full Marks : 60

The figures in the lefi-hand margin indicate marks.
Candidates are required to give their answers

in their own words as far as practicable.
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(a) 1 told him to write "Seven books" but he wrote "Seventh
book."
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(b)

(c)
(d)

()

{2)

(b)

(c)
(d)

(e)

[4]
She did not enter the National Library and he will never
visit this.
[nfact two sons of Zaid became members of our college.
They bought a computer, two books and three pens, from
the nearly shop.
All students of the class six attended the class except Bakr.
(B)
But the two poets of this literary movement did not
composed these poems.
Eighteen goats and twenty eight oxen are grazing in this
field.
The Ganges is the bigger river than Jamuna in length.
All members of this society have attended the meeting
except the carpenter.

Fatima never tells a lie, She did not write this letter.
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U.G. 2nd Semester Examinaagmﬁ;@%{

119
COMPUTER SSTENCIS;

{GENERICE
Course Code : C&‘g
2 .' =)
Full Marks : 60 -.,-_!3, " : 21 ®gurs
A &)
The figures in the right- hand'’ mm&g@ mdzc S

a\j' ]

Candidates are required to give ther %ﬁﬁﬁ?" < in thezr

own words as far as practicable.

GROUP-A

1. Answer any ten of the following questions:

. :
b)
c)

d)
€)
)

£)

h)

2%10=20
What is RAM and ROM?
Define instruction format.
What are the major components of CPU?
What do you mean by hit ratio?

What do you mean by parallel transfer and serial

transfer?

What is Branch Unconditionally (BUN) and
Branch and Save Return Address (BSA)?

List out all register for the basic computer.

What is 1's complement and 2's complement?

[Turn Over|




‘-

®
i)  What do you mean by start bit, character bit and

stop bit in serial asynchronous transfer?

" i) *What is parity bit?

k)" What is SR flip flop?

1) Add two Binary numbers 1010100 and -

1011010.
~  GROUP-B

Answer any four of the following questions:
5%x4=20

a) Explain briefly memory reference, register

reference, input-output  instruction.
Differentiate between direct and indirect

addressing. BelP=5

b) What is universal gate? Using NAND and NOR
gate design AND, OR, NOT gate. 2+3=5

¢) What do you mean by content addressable
memory (CAM)? What do you mean by main

memory, cache memory, auxiliary memory?
2+3=5

d) What is parallel transfer and serial transfer?
Which one is faster? What do you mean by
serial synchronous and serial asynchronous

transfer? 2+1+2=5

111A/Comp.Sc/GE/202 2

a)

b)

111A/Comp.Sc/GE/202 (3)

¢) Explain De-Morgan's Theorems and procfthese *
Theorems using Truth table. 2+3=5

f)  What is RISC and CISC? Distinguish between

combinational and sequential logic circuit giving
example of each. 2+3=5

GROUP-C

Answer any two of the following questions:
10%2=20

What is Multiplexer‘;’ Perform the arithmetic
operations (+65) + (=78) using sign 2's complement
representation taking 8-bits to accommodate each
number together with its sign. Design full adder using
half adder. Explain briefly floating point
representation with suitable example.

2+2+4+2=10

What is write through method and write back method?
Explain with block diagram of RAM chip and ROM
chip. ' 3+7=10

What is parallel and pipelining architecture?
Represent the decimal number 8620 in : :

i) BCD

ii) excess-3 code

[Turn Over]



iili) 2421
iv) binary code
What is mode of transfer? 3+44+3=10

d) Explain briefly three address instruction, two address
instruction, one address instruction, zero address
instruction. What is DMA? What are the various types
of memory mapping in memory? What do you mean
by ASCII code? o2t =10

111 A/Comp.Sc/GE/202 (4)




Full Marks : 40 Time : 25 Hours
The figures in the vight-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

GROUP-A
1. Answer any five questions: 2%5=10
a) Convert the binary number 010110.011 into
decimal number.
b)  Whatis the advantage of 2's complement system
over 1's complement system?
c) What is vector interrupt?
d) What is microprogrammed control unit?
e) What is race condition?
f)  What is the difference between a decoder and a
demultiplexer?
g)  State and prove the indempotent law of Boolean

Algebra.
[Turn over]



h) Prov‘e ‘that NOR gate is equivalent to bubbled
AND gate.’

N

2)

b)

d)

3. Answer any two questions :

a) i)

ii)

Answer any two questions :

GROUP-B
5%2=10

Explain a 4-bit adder/subtractor circuit with a

suitable block diagram. 5]

i)

ii

i)

ii

Using DeMorgan's theorem, show that

(A+B) .(A'+B) =0

i) State the difference between edge-

triggering and level clocking. 342
Explain steps of fetch cycle for MOV A,B
instruction.

)  Write down the usage of condition codes.

32

Design a modulo-10 counter. 5
GROUP-C

10x2=20

Ilustrate the function of a multiplexer using

appropriate logic circuit and truth table.

Explain serial transfer of a binary code 1101
from register A to register B with shift register.
4+6

1 ll/Comp.Sc/P/ZOl (2)

b) i) Draw a 16x1 decoder using simple gates.
ii) Discuss various addressing modes. SE5
c) i) Explain DMA configuration in detail.
ii) Discuss the methods to identify interrupting
module. S5+5
d) i) Explain relative, base register, indexed and
stack addressing mode in detail.
ii) Briefly discuss the internal structure of ALU.
S5
111/Comp.Sc/P (3)
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Candidates are reguired to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 2x10=20

, @~ vl 2R Sad wie ¢
a) Write any two characteristics of creativity.
FEAEreld @-CFiAl 45 A @
b)  What is personality?
JfEg ST WA

¢) - Write the difference between extrinsic

motivation and intrinsic motivation,
qifers '@ SSrgAe e Wi P el
d) State any two factors of motivation.
(Rl -G WS Seliea el wis |
e) What is intelligence?
% FICT 4 e '

[Turn over]
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f)  What do you mean by positive transfer of
learning?
g A ST @ e

g) Mention any two scope of Educational
Psychology.

AT o Ak S =

hy  What do you mean by insightful learning?
ergBrEs fide TIe @R ?

i)  What is Behaviouristic learning?
SRR e e

i) What is encoding?
TS YET N T

k)  What do you mean by over learning?
wfSfen e § @2

1) Analyse any two causes of forgetting.
frafen @-camm afb e R =

m) What is repraduction?
SISl I A

n)  What is development?
FErglel <l e ?

0) What do you mean by positive reinforcement?
e HfewEe TrsE T & @R e

121/Edn/GEAL (2

2. Answer any four questions: . 5%4=20
| @G oS e Uew e ¢
a) What do you mean by schema? How the
schema is developed?

B o e el I B B 0 s B 4

b)  Write a short note on Brainstonﬁing.
@GRk A AR 93 B G
¢) Write the strategies of enhancing transfer of
learning,
e e fa (el e
d) Write the differences between growth and
development.
1% @ freimam s #dere @Al
e) Discuss the role of teacher for solving the
; problems of adolescent.
TR AT FIG st gl S 1|
)  Discuss the natures of educational psychology.
FpmraifE egfonfi Wb o4
Answer any two questions: 10%2=20
(-CHIAl Wfb 2w ©ea Hig 3
3. Explain Spearman's theory of intelligence with its
educational implications. . 743

fppiere wwy 7g PemEieE IfEe oG il w9

121/Edn/GEAT (3) [Turn over]




4.  What is motivation? Suggest different strategies for
motivating students to learn. 2+8
coret <oice <rete wfil e frsidivr caael e FAC
TE (@R e

5.  Explain the influence of heredity and environment

on individual difference. 545
aiferaanna cang avesfe aFe Al Fimel geld
G} WA F9

6. What do you mean by conditioning? Make difference
between classical conditioning and operant
conditioning. Write two educational implication of

‘operant conditioning. 2+6+2
SEE FE0e 7 aRie AP Sadn @ AR STed
st 2l Fio 357 | e Saeeed 1t e vlesd
(w14 |

121/Edn/GEI (4)
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U.G. 2nd Semester Emminatj&

on - _2']1 9

o

EDUCATIONQE 2824, 5

own words as far as practicable.

1. Answer any ten questions: 2x10=20

CA-CFIET weifB eem g v

a)

b)

d)

Define Psychology.
AR A e |

Mention any two differences between growth

and development.

?ﬁﬂﬁﬂﬁrﬂmﬂwm@mqﬁ*ﬂﬂmﬁﬁi
What do you mean by emotional development?
Arfes fm e 9§ @
State any two needs of infancy.
ORI & It S sifEw G |

[Turn over}
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€)

o 2

h)

i)

i)

k)

)

m)

122/Edn/P/11

Mention any two characteristics of social
development of childhood.

AERIEE AMEE @i @ @i b tafEe
T T4 |

Define learning.

- FReT AgeE! wig |

State any two differences between learning and

r}laturaiion‘

[t 6 sifersieeTa e @ e gt el @)
What is conditioning? :

GG 2

What is meant by insightful learning?
TETAT P 5SS @RI

State any two characteristics of LTML
LTM-92 @ (it i tafey e

Define forgetting.

e AeE e |

What is creativity?

AR ¢

State any two characteristics of 'g'-factor as

given by Spearman.

PRIt Sl g S i 9 cafEr @

(2)

P ———

B —

- W,

n)  What is meant by heredity?
RIS TS F R

0) What do you mean by individual differences?
FiG1s a0 T F @RE 2

Answer any four questions: 5x4=20

@~ B <ivys Swd whe

a) Describe briefly the stages of cognitive
development according to Piaget.
it SelAE (e S aetaf A
EICeAB=] 4 |

b) State the characteristics of operant
conditioning.
Aigm TASTE (A ql 9]

¢)  Discuss the different types of transter of
learning with example. - -
4|

d)  Discuss the causes of forgeiting.
forgaea sreef ST 49|

e) State the role of a teacher in nurturing
creativity in the clagsroom.
(AR SemAETe] SllE-A AT MR e Al
4|

f)  State briefly the trait theory of personality.
AL ww R wee 4l |

122/Edn/P/1 (3) [Turn over|




Answer any two questions; 10x2=20

-1 7o 20 Tad 7ie 2

L

n

Describe the needs of adolescents. Discuss the
educational programme to satisfy these needs.
5+5=10

FTARRIER bifRnafE adfa =) @ oifeal Aze fre-
ST AL T

Define motivation. Discuss any three factors of
motivation. State the role of motivation in learning.
2+3+5=10

C2EeE A WG| (HAelE @ (i A gses Aeere
ST T4 | < czme@ i @)

What is intelligence? Describe briefly the
intelligence theory as propounded by Thurstone.
2+8=10

qia e ARG 23fEe 9feq o swewet 2 o4
Define personality. Discuss briefly the psycho-
analytical theory of personality, 2+8=10

WfesTgl 7wl wie | afeer s welb Hewe
G %4 |

122/Edn/P/11 (4)




186/Eng/H/IIT ; UG/2nd Sem/ENGH/CC—T—III/ 19

U.G. 2nd Semester Examing '

ENGLISH &/

[HONOURSE 3 Kaﬂdr Raj College

w\ (Gowt. Spans.)

Course Code : ENGHfC )T—ﬁ!fd -1850
I |

Full Marks : “Fies e
wa St 1 -y: A
The figures in the right-hand margin mdicargsmar k.

Candzdates are required to give their answers in their
own words as far as practicable.

Answer all the questions.

GROUP-A
1. Answer any ten: ‘ 2x10=20

a)  Who are waiting to enter the Great Temple in

"Dawn at Puri'?

‘ b) How did the speaker in 'An Introduction’ ignore

her "womanliness"?

¢). Why does the poet want to "consecrate a lay in

memory of Casuarina tree?
d) "It is time to choose name." What are the names
mentioned?

¢) What is the last wish of the speaker's ageing
mother in Jayanta Mahapatra's poem?
[Turn over|




2

h)

)
1)

m)

n)

0)

a)
b)

Answer any four:

How does the speaker in 'Our Casuarina Tree'

describe the water-lilies?

What is the final realization of the speaker in
'Enterprise'?

What happened in the first stage of the journey

“in "Enterprise”?

What is the mother's main preoccupation as
mentioned in 'A Poem for Mother'?

Why does the speaker in 'A Poem for Mother
end the poem with a note of regret?

What frightened the narrator in 'The Intrusion'?

Why did the narrator in 'The Intrusion' pick up
a shell and throw it away?

What does Amitav Ghosh note about Dzevad |

Karahasan?

Why did the "armband youths" advise Ramani
to go to Bombay?

What are the "same bland items" found in the

morning papers?
5%4=20
Is the speaker in 'The Bus' a typical pilgrim?

Write a note on the use of imagery in 'Our
Casuarina Tree'. ;

186/Eng/H/III (2)

¢) How does Kamala Das react to gender
stereotyping in 'An Introduction'?
d) Is the narrator prejudiced against the thief's
widow? Argue with textual references.
e) How does the speaker describe his childhood
days in 'A Poem for Mother'?
f)  Refer to the events that 'followed relentlessly
on each other' in 1984.
GROUP-B
3. Answer any one: 10x1=10
a) How does language function as expression of
cuitural and religious identities? Analyse with
reference to Devan's encounter with urdu poet
Nurin Anita Desai's novel.
b) Would you consider Imtiaz Begum as an icon
of New Woman? Give reasons for your answer.
4.  Answer any one: 10x1=10
a) Comment on the multiple dimensions of the
relationship between the physical body and
personal identity as explored in Hayavadana.
b) How does Karnad adapt an ancient myth and
use it in moderm context in Hayavadana?
186/Eng/H/II (3)



ENGLISH
[HONOURS]

Full Marks : 60
The figures in the right-hand margin mdzcafe marks.

Candidates are required to give their answers in their
own words as far as practicable.

Answer all the questions.

GROUP-A

1. Answer any ten of the following questions:
2x10=20

a) Why is the Wife of Bath compared to the

weavers of Ypres and Ghent?

b) Describe the 'hose' and shoes worn by the Wife
of Bath. '

¢) Why is Cologne mentioned by Chaucer as a .

place of pilgrimage?

d) What could be the reason for describing the
wife as "gaptoothed" ["Gat-tothed"]?

[Turn over]



e)

g)
"
i)
i)

k)

m)

n)

Who is the mortal 'thing' being referred to in

the line "A mortal thing so to immortalize"?
Explain the phrase "made my pains his prey".

Why did she call the speaker a "Vain man" in
the poem in "One day I wrote her name"?

‘What does the speaker in "One day I wrote her

~ ‘name" mean by "later life renew"?

Explain the phrase "rags of time" from "The

Sunne Rising".

What do "th' Indias of spice and mine" in "The

Sunne Rising" refer to?

Why does the speaker in "A Valediction
Forbidding Mourning" think that "moving of th'

earth brings harms and fears"?

Explain the phrase "dull sublunary lovers" in "A
Valediction Forbidding Mourning"?

After Bacon, describe the state of relations
between the "triumvirate of kings".

What was the answer of Apollonius to
Vespasian?

"For their wives; there are cruel examples of
them"— Mention any two such examples given
by the author.

_ 187/Eng/HAV (2)

Answer any four of the following questions:

2,
5x4=20
a)  Write a short note on the Wife of Bath as a
pilgrim.
b) Locate and annotate:
"No need just now to speak of that, forsooth."
¢) Locate and annotate:
"... let baser things devise
To die in dust, but you shall live by fame"
d)  Explain the opening conceit of "The Sunne
Rising".
e) Write a short note on the conceit of "stiff twin
¢ compasses” used in "A Valediction Forbidding
Mourning".
f)  Explain and comment:
"Princes are like to heavenly bodies, which
cause good or evil times; and which have much
yeneration, but no rest."
187/Eng/H/IV (3) [Turn overf



GROUP-B
3. Answer any":one of the following questions:
10x1=10
a) Write a brief essay on the religious thought as

expressed in Doctor Faustus.

b)  Write a brief essay on the figure of the scholar

in Doctor Faustus.
4.  Answer any one of the following questions:
10x1=10

a)  What was the occasion of the first performance
of Telfth Night? How does the play respond
to the occasion?

b) Is it appropriate to describe Lady Macbeth as
"fiend-like"? Justify your answer. '

187/Eng/H/1Y (4)




190/Eng/AECC UG/2nd Sem/ENGMAE(MIL)-T-1/19

U.G. 2nd Semester Examinatjgi® m\
A

Course Code : ENGMAE-AP
Full Marks : 40

The figures in ti?e right-hand margin TR

ENGLISH QSS“
[COMPULSORY

Candidates are required to give their answers in their

own words as far as practicable.

Answer all the questions.

1. Answer any five from the_following: 2x5=10

a) Give two instances of non-verbal
communication.

b) What is the difference between business
communication and personal communication?

¢) Define verbal communication.

d) Point out two barriers in the way of effective

" yerbal communication.

e) Which qualities are required to fare well in
group discussion?

f)  What is a monologue? How does it differ from

a soliloquy?
[Turn over]




g)  What is an acronym? Give two examples.

h)  Mention two types of interview.

Answer any two from the following: 5X2¥10

a) Prepare a public speech in about 100-150
‘w_ords on the following: ;

Menace of global warming

b) Two friends are talking -about the possibility
of getting a job. Write the dialogue.

¢)  Write a summary of the passage given below:

Wealth is certainly indispensable for
one's happiness. However, it is easily liable to
be employed by one set of people against
others. Besides, wealth has a tendency to
concentrate in the hands of a few, with the
result that the rich become richer and the poor
poorer. In the existing conditions of society,
we find that there are classes of people who
are miserable and unhappy, while there are
others who are rich, well-fed and comfortable.
Such differences in economic conditions are
mainly due to the maldistribution of wealth in
society. In assessing ‘the welfare of the society,

we must not refer to individual fortunes or

conditions of life. By human welfare we are to

mean the greatest good of the greatest number,

190/Eng/AECC(MIL) (2)

d)

a)

b)

c)

d)

190/Eng/AECC(MIL)

Translate the following sentences into an Indian

language:

i)  He went back on his promise.

ii) The police retrieved the dead bodies of
climbers from the peak of a mountain.

iii) The total number of applications for
getting admission to Delhi university has
dropped this year.

iv) The court has sentenced two convicts to
life imprisonment.

v)  The teacher was pleased very much by

his student's witty answer.

.Answer any two of the following: 10x2=20

Write a letter to the Head of the Institution
praying for a free studentship.
Prepare a report mentioning details about the
plantation program orgahized by the authority
of your college.
Prepare a questionnaire for interviewing a
famous Indian cricketer of your choice.
Read the following passage and answer the
questions given below:

The city's fleet of air-conditioned buses
has changed the way of people of Kolkata. Not
only regular bus-takers, but also a sizeable

number of people, who have the means of

(3) [Turn over]



taking a car or a cab, rely on AC buses. A
random survey among 20,000 commuters
revealed that 24% of those who owned cars
regularly commute in AC buses. An AC bus
equals to thirty cars in terms of passenger-
carrying capacity. An increase in the number
of bus-users will lead to road de-congestion
and a reduction in vehicular emission.
According to figures released by West Bengal
Transport Corporation, Kolkata's fleet of 400
AC buses has managed to draw two lakh
passengers daily.
i)  What has changed the way of people of
Kolkata? How has it taken place? 2
i1) What did the random survey reveal? 2
1) What will be the positive result of the
growth of number of bus-users? 2
iv) How many AC buses owned by West
Bengal Transpbrt Corporation run in
Kolkata? How many passengers travel in
these buses daily? 2
v)  Make sentences with two of the following
words: 2

random, commuter, emission, rely

190/Eng/AECC(MIL) = (4)



63/Geog/H/TIL UG/2nd Sem/GEOH/C

U.G. 2nd Semester Examinati %

GEOGRAPHY
[HONOURS]

Course Code : GEOH/CC-

_Kaﬁdi Raj College
(Govt. Spons.)
Estd-1950

Course Title : Human Geograp

Full Marks : 60 Time : 24 Hours
The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their
own words as far as practicable.

UNIT-I

(Nature and Principles)
[Marks : 20]

1. Answer any three from the followings:  2x3=6
a) Define social space.
b) Differentiate raée from ethnicity.
c) What do you mean by cultural hearth?
d) Who are homohabilis?

e) Differentiate acculturation from assimilation

of culture.

[Turn over]



2. Answer any one from the followings: 4x1=4

2

b)

3. Answer any one from the followings:

'

b)

Highlight the major characteristics of

mongoloid racial group.

What are the major differences between

oriental and occidental cultural realms?
10x1=10

Evaluate the major themes of human geography

with their relevance in present time.

Explain the major processes, causes and

consequences of cultural diffusion.

UNIT-II

(Society, i)emography and Ekistics)

[Marks : 40]

4. Answer any seven from the followings: 2x7=14

a)
b)
¢)
d)
e)

What is meant by demographic divide in India?
Define optimum population.

What do you understand by pastoral nomadism?
What do you mean by social m'orphology?

Differentiate hunting. from gathering.

63/Geog/H/IIL (2)

g)

h)

1))
k)

5. Answer any four from the followings:

Give one example of mining town and one of

port town in India.

Mention any two characteristics of subsistence

farming.
Distinguish between nucleated and dispersed

settlement.

Cite four examples of environmental

degradation caused by population growth.
What is meant by 'population-resource region'?
Define 'urban society'.

4x4=16

a) Highlight the global trend of urbanization.

b) Establish the relationship between climatic
condition and rural house type in India with
suitable example.

¢) Highlight the major causes of disparity in
population distribution of India. ‘

dj Bring out the major prospects and problems
of urban society in the developing world.

e) Narrate the critical issues of Environment-
Development conflict.

f)  Outline in brief the bases of functional
classification of cities.

63/Geog/H/III (3) [Turn overf



6. Answer any one from the followings: 10x1=10

a) Critically evaluate the demographic transition
model with its application in Indian perspective

of population growth.

b) Account for the types and patterns of rural

settlement in India with necessary example.

63/Geog/H/II1 (4)



64/Geog/H/IV UG/2nd Sem/GEOH/CC-T-04/19

U.G. 2nd Semester Examination - 2019

GEOGRAPHY
[HONOURS]
Course Code : GEOI/CC-1-64

'Course Title : Cartograms, Survey and Thematic] Aapping
Full Marks : 40 . fime 22 - Hours

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

1. Answer any five questions: 2x5=10
i)  What do you mean by 7. hematic map?
ii) Define Cartogram.
iif) Write any two advantages of Ergograph.
iv) What is meant by Reduced Bearing?
v)  What is Change Point?

vi) What do you understand by Surveying and

Levelling?
vii) What is meant by Line of Collimation?
viii) Distinguish between Bench Mark and Datum

Line.

[Turn over]



2.  Answer any two questions: 5x2=10:

i)  Bring out the utilities of Isopleth and Chropleth
maps.

ii) Enumerate the relationship between Whole-

circle Bearing and Reduced Bearing.

iii) Illustrate with a suitable diagram the relationship

between Fore Bearing and Back Bearing.

iv) Highlight the procedure and significance of one
degree method in Theodolite survey.

Lo

Answer any two questions: 10%2=20

i) Explain different types of 'Surveyi-ng' £r

mentioning the basis of classification. 10

ii)  Analyse the salient features of Climogréph after
Taylor. How is it interpreted? Ta5—10

iii) Discuss the process of traversing by Prismatic
Compass. Highlight different methods of
plotting and adjustment of closing error.

6+4=10

iv)  Write a short note on Landuse / Landcover map

highlighting its merits and demerits. 10

64/Geog/H/V [2]



1/Hist/H/III UG/2nd Semﬁ}ﬁi’f]ﬁ&-’];kﬂlw
@’D "fil.g '“?w

Full Marks ; 60

The figures in the right-hand margin mdzcare marks.
Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
R~ welfbs el T wie 2
a)  Who is the author of 'Indica'? From where did
he Come?

Tl e Rl &2 o @l (A aEET
b)  What is 'Dharmavijaya'? Who introduced it?
‘o ferr 52 331 (@ oS+ T2 2

¢) Who is the author of 'Asoka and the Decline of
the Mauryas'?

'Asoka and the Decline of the Mauryas' 2tzs
TR &2

d)  Who was called as 'Dakshina Pathapati' and why?
B W ALATS 6T 27 GR (e 2

[Turn over]



e)

2)

h)

m)

1/Hist/H/II

What is 'Bhukti'? With which administration it

was related?

i 57 G =P 72 Iied 2] A feeie

Who was called 'Sakalottar Patha Natha'? Why
he was called so? - .
FAFENSIALAL PIF FeTl 7Y Q3R (2

Who wrote "Nagananda'? Name another book :

written by him. :

TSN I @712 S G S G{D g W T |
What is the religious belief which was
propagated by Sri Chaitanya?

R trony 24fEs &l i o e

What is the subject-matter of the book 'Surya
Siddhanta'?

ST e alcgd SieED) a5

What is 'Hiranya'? Who introduced it?

Toaelr 2 & @08 T '

What are the names of the two branches of
Buddhism?

(et B =i i & = 2

Who is the author of 'Tantrasar'?

AR O T R

What is 'Shangharam'?

eI 5

[2]

n)

o)

2.  Answer any four questions:

Who is the author of 'Indian Feudalism'?
‘Indian Feudalism! 8255 a5fe) G 2

What do you mean by 'Chola Lake'?

‘feT g e 7B IRl

5x4=20

- A i TE s

a)

b)

)

d)

. 1/Hist/H/III

Discuss the causes of the downfall of the
Mauryas in brief.

G #STIR PRI FREFCA ST 54 |

Discuss in brief the basic features of 'Magalithic
culture'. :

‘Eaiferfe Agle 7 o iR e R S v

<A

Discuss the social structure of the Satavahana °
‘Empire.

A2 A AN 1641 Sceival 731
Discuss the administrative system of Kaniska.
B AT =] SICAD] 54|

Write a short note on *Sangama literature''.

o AReer A o 4% Bl @ |

Discuss the awareness regarding environment

in ancient India.

2D CRTSA AT STESTS! THH FED T4 |

[3] . [Turn over]
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- Full Marks : 60

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

 their own words as far as practicable.

1. Answer any ten questions:

2%x10=20.

-G Wi A Te S ¢

a)

b)

d)

Who were the authors of 'Ramcharita’ and
‘Rajtarangini'? '
ARS8 oA T IS Bl 2

Who was the author of 'Kitab-ul-Hind' or
'Tahakik-1-Hind'? In which language was 'it'
written? ‘

TPOIR-Bet-faer 1 ORTe-2 R AT RS (2 (I
S 4t A6 SR ?

Who did found the Pala and Sena dynasties?
AT 4R G AEA 2fSoret it =t ?

- Who was the Pala King at the time of Kaivarta
‘Revolt? Who was the leader of this Revolt?
7S Rited SN (@ Al <<eiE el e @3
ftaiteg o @ fRE 2

[Turn over]



e)

2)

h)

i

k)

m)

2/Hist/H/IV

. Whodid introduce 'Kaulinya' system and where?

* Rt @l (G, (PIRIA LS AT 2

Where was the capital of the Pallavas situated?
Who was the greatest King of this dynasty?
SR A A BF 2 AT ReE @D qE!
& Tetsie 2

Who were the first two Chola rulers?

AL T (B1eT * s T feceta 2

In which year did the Arabs conquer Sindh? Who
was the King of Sindh of that time?

(I Al Sl B ol e seafeet 2 w9 P
A & foter 2 :

What is 'Bandegan-i-chahelgan'?

AR BIREAN e e

Who were the first and last Sultans of the Ilbari
Turk dynasty?

BRI G e0eT @le @ ¢ FeTol Fal e 2
Who were called the 'new mussalmans'?
TP FIW & 29 2

Who was Malik Kafur?

wfers iR @ e

What is 'Zizya'? Which Sultan introduced it
first?

e e (I TSl LA qF TG e 2

[2]

n)

0)

38

Answer any four questions:

Where and by which name did Muhammad Bin-
Tughlak establish a new capital?

T R e (I, & A o AreEial 2loH
P2

‘What is 'Dewan-i-Khairat'? Who introduced it?

{eTI-3-4TS’ 52 B &l (F e 2
5%4=20

@-CHIE! o6 2 Tea e ¢

a)

b)

c)

d)

e)

2/Hist/H/IV

Point out the main importance of Jiyauddin
Barani as a historian.

afeg s AT fEraiShm aemla e wwy o
F4|

What was the historical significance of the
Second Battle of Tarain?

wHiRER @ Jrad QiR vy o feere

What were the main reasons behind the downfall
of Sultana Raziya?

sJefelell e AeeTs 71 Piaciel o fee

Is it justified to call Giyasuddin Balban's theory
of Kingship as the 'Divine Theory of Kingship'?
By qEraca ereliE SmE AP
g @l A 6 e

What was the significance of the Khalji
Revolution of 1290 in Indian History?

Sl FORE] 30 AT 4T FRATR Slest
fest e

[31] [Lurn over]




Was Firuz Tughluq responsible for the downfall
of the Delhi Sultanate?
2 |

3. Answer any two questions: 10%2=20
@I g6 2R TEE e ¢ -

a)

Describe the tripartite struggle among the Palas,
Pratiharas and Rastrakutas.

A2 eF-RToMI N fasiR FRANR K=z

- wie |

b)

d)

2/Hist/H/IV

Discuss the social, economic and political
conditions of North and North-Western India
on the eve of Turkish invasion.

ofF SFET ARFIE Ted ¢ BeF-si#oN BlRCsA
(e, WA € G ==Z] Tl 1|

Why and how effectively did Alauddin Khalji

introduce the Price Control System?
SIS WEAfE (9 @R FOB! AFED AR &1
fRige A2l Bie] FCAtRET 2

What do you know about the currency reform
of Muhammad-Bin-Tughlug?.

T S O WG A AR A=A (5l 2

Ed4



4/Hist/P/II UG/2nd Sem/HISP/CC-T-11/19
< lNFuqé;;

U.G. 2nd Semester Exa

g c“";‘
HISTO I " ) Ert
; *» (@t Tagn )57
[PROGRA r‘iv ] { E,s.!.ﬂ'u &
Course Code : HISP/&3 | | >/
=N >
Full Marks : 60 Tindond iy

The figures in the right-hand margin indicate marks.
Candidates are required fo give their answers in
their own words as Jar as practicable.
GROUP-A
e
1. Answer any ten questions: 2 10=20)

- 7 2o T e ¢

a)  Mention the name of two historians of the
Sultanate period.
Tl o 43 Tt BfeniBima A @

b) When was the Sultanate established in Delhi?
When did it decline?
WEIte 303 Sgeretf Wv ofefe 2 F rE)
TSI 7w qi5 2

¢)  Who started to built the Qutab Minar? Whose
Memory was commemorated by the monument?
ORI Fordlel S (@ 3 vz 2 v O ST
<6 Fifife 232

[Turn over]



e) What are the main features of the Indo-Islamic
style of architecture?
Sral 2R Feieidifed e cafsErafs S
GROUP-C
fetei-st
3. Answer any two questions: 10=2=20

@-(AT o 2ATea Tea WS 3

a)

b)

d)

4/Hist/P/11

Make an assessment of the Rajput poliey of
Akbar.

A TS 197 4FH e 4|

Do you think that Aurangzeb's Deccan policy
was one of the main causes of Mughal downfall?
o fo W1 A WSTHEER WA MO 4
AECETE Ao 2dH TR T o e
Discuss the impact of the Sufi Movement on
the Indian society.

SIS G ARE SCHETAL A8 STEG
Draw a pen picture of the economic and socio
cultural life of Bengal during the rule of the
independent Sultans of Bengal.

e R S P R T
& ARG ALESF SIE G35 bd S 41







18/Math/H/III UG/2nd S /MTMﬁ'
em ;@

U.G. 2nd Semester Examinas

on -

_.

/
%

A
L

Full Marks : 60 e 2 ; Hours

The figures in the right-hand margin indicate marks.

The symbols and notations have their usual meanings.

1. Answer any ten questions: 2x10=20

a) IfAand B are bounded subsets of IR, then prove
that A M B and A U B are also bounded.

b) Prove that the set {+1, +4, +9, +16, ...} is
countable.

c) State completeness axiom of [R. Let S be a non-
empty, bounded above subset of IR. Show that
the set T = {—x: x €S} is bounded below.

d) Give an example of an open set which is not an
interval.

e) ConstructasetS c IR such that S'= N, where S’

is the derived set of S.

[Turn Over]



g)

h)

1)

k)

Give an example of an open cover of the set
[0, =2) which does not have a finite sub-cover.

State Archimedean property of real numbers and

1
hence show that H_)O as n—yeo,

X
Given that y —0 as n—see. If lim ;l is finite,
TR n

then show that x,—0 as n—se. Show by an

example that the converse is not true.

[ 1) . nm ‘
Show that the sequence l 1“; Cos—=1 s not

convergent but has a convergent subsequence.

Let ~1+l+l+ 1 ! v nelN

etx, 35 " Top p,Yoel . Prove or
disprove {x,} is a cauchy sequence.
A sequence {x,} is defined as follows:

e s XA L Ot

If (%3,%5,.1) — 0 as n—eo, show that {x,} is

convergent.

18/Math/H/IIT ©2)

1)  Give examples of:

i) a convergent series Ean of positive

n=l
. aﬂ —
terms such that lim ——=1,
n—yee a“
ii) adivergent series an of positive terms
n=1
L Laub
such that ‘1‘1})11 ”gﬂ =1
i n
m) If Zun is a convergent series of positive terms,
n=1
i ul'l .

show that 2 T Tu is convergent.

n) If Zun be absolutely convergent and {v,} be a
n=1

bounded sequence, then show that the series

DUV, s absolutely convergent.

n=l

M 0

o) Prove that the series T e is

conditionally- convergent.

18/Math/H/III (3) [Turn Over]



Answer any four questions:

2
a) i)
if)

) i)
i)

c) i)
i)
18/Math/H/IIT

5x4=20

Let S be a non-empty bounded subset of
R with sup S = M and inf S = m. Prove
that the set T = {|x—y|: X, y €S} is bounded
above and sup T'=M-m.

Give an example of an infinite set S ¢ R
such that S has only one limit point.
(1+3)+1

Let A be a non-empty subset of IR and
d(x, A)= inf {|x—y| : y € A}. Prove that
d(x, A) =0 if and only if x €A.

Give an example of a family {I :n €[N}

of non-empty closed intervals such that

[oLoLo..and [ 1, =9. 4+1
n=l

If {x,} be a sequence such that

el
lim s, I ! where | /<1, then show that

X—>e0

lim x, = 0;

n—ee

n

Showthat lim “—=0.if[x| < 1.

4+1

(4)

d)

3. Answer any two questions:

a)

18/Math/H/I11 (5)

Prove that the sequence {x, } defined by.x, =~/7
and x,., =./7+x, , Vn > 1 converges to the

positive root of the equation x*—x~7=0. 5
If ¥x, be a convergent series of positive real
numbers and {x,} is a monotonic decreasing

resonance, then show that lim nx =0. 5

i)  If the series 3x, is convergent, then show
that lim | u, [=0.

ii) If o >0, B> 0, test the convergence of
the series

124 (o+1)(200+1) .l (0c+1)(20c+1)(3oc+1)er

B+l (B+1)(2B+1)  (B+1)(2p+1)(3p+1)
2+3

10%2=20

i)  Show that the intersection of a finite
number of open sets in [R is an open set.
Give an example to show that the
intersection of an infinite number of open

sets in [R is not necessarily an open set.

[Turn Over]



ii)

DR

ii)

iif)

ii)

iii)

18/Math/H/II

Let K be a compact subset of R and F < K
be a closed subset in [R. Prove that F is

compact in R. (4+2)+4

If a sequence {x,} is monotone increasing
and bounded above, then show that it is
convergent and converges to its least

upper bound.

Prove that in IR, every cauchy sequence is
convergent. Is it true in the set of rational

number Q? Justify your answer,

Prove that ,l.lfi (\/1—1?1-4/3) =0.
3+(4+1)+2
Let ¥x, be a series of positive real
numbers and lim Xn}!{ — /. Then show that
XX, is convergent if / < 1 and ¥x, is

divergent of /> 1.

Examine the convergence of the series

3

e
Xeb—+—4 x>0,
23

Prove that an absolutely convergent series
is convergent. - 5+3+2

(6)

d) i)

if)

iii)
18/Math/H/II1

Show that the unit interval [0, 1] is
uncountable.

Find lim inf x, and limsup x, where
n-—es oo

I
X, =—+sin—
n 4

If0 < a<b <1, then show that the infinite
series I + a + abF alb + a?b2+ ... is

convergent. S s

(7)
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The symbols and notations have their usual meanings.

-1.  Answer any ten questions: 2x10=20

- a) Determine whether x=0 is an ordinary point or
a regular singular point of the differential

equation:

3]

D (d~¥)+7x(x+1)(§—y)—3y =0

dx X

b)  Write down the Cauchy-Euler type of equation ‘
in connection with homogeneous linear

differential equation. '

[Turn Over/ !




¢)

d)

e)

£)

2)

Show that e* and e** are solutions of the

differential equation:

d’y  dy
Bl s 3=
ahi 4
Are they independent? il

Prove that if f (x) and f,(x) are two solutions of

d’y dy
Py (X)F‘LR (X)&"sz (x)y=0
then Af|(x) + Bf,(x) is also a solution of this

equation where A and B are arbitrary constants.

Show that f(x, y) = xy” satisfies the Lipschitz
condition on the rectangle R : | x| <1, |y | <1
but does not satisfy a Lipschitz condition on the

strip S ¢ [ x| <1, |y | <eo

d
Show that for the problem _d% =y, y(0)=1;the

constant 'a’ in Picard's theorem must be smaller

than unity.

From definition prove that the four functions

3e¥, —4e¥, 5¢" and 6¢” are linearly dependent.

19/Math/H/IV (20

h) IS is defined by the rectangle | x [<a, |y |<b,
then show that the function f(x, y) =x siny +y
cos X, satisfy the Lipschitz condition. Find the
Lipschitz constant.

i)  Provethat: [axb, bxg, 6xd]|=[dbe].

j)  Find the equation of a plane which contains the
straight line T =td and is perpendicular to the
plane containing the straight lines T = tIB and
=1,y wheret, t,, t, are scalars and @, B, ¥ are
given vectors and T is the current vector.

k)  Define asingle-valued vector function of a scalar
variable in a domain. Give an example.  1+1

A A - dr _d’t

1 If ¥ = 3ti +3t%j+ 2t°k then find —x—.

)' £=3ti +3t*)+ 2tk then find =X~

m) Find div | and cutl F when F = grad
(x*ty*tz22-3xyz). .

2L G SHS -

n)  Evaluate f, (r X@Jdtwhere =21+t 3t%.

19/Math/H/IV (3) [Turn Over]




0) If the vectors A and B be irrotational, then

show that the vector A x B is solenoidal.
2.  Answer any four questions: 5%4=20

a)  Solve by the method of variation of parameters

the equation:

*y
3
——5 ty=sec X tanx.

dx

' zﬂ , dy bpc l)
b)  Solve: X dX3+2x dxz+2y—10 X+x,'

¢) Solve by the method of undetermined

coefficients

d)  Reduce the expression (ﬁ+Y) [(?+6¢)><(6c+§)]
to its simplest form and prove that it vanishes

when @, B, ¥ ate coplanar. B2

e) Provethat the necessary and sufficient condition

foravector T =f (t) to have a constant direction

-
is fx—=0,
1S di

19/Math/H/IV (4)

f)  Show that the vector V= (4xy—z3 )f+2x2]'—3xzzf<

is irrotational. Show that V can be expressed
as the gradient of some scalar function ¢.
2+3

3. Answer any two questions: 10%2=20

a) i) Obtain the power series solution of
y'+(x—1)y' +y=0in powers of (x — 2).

ii)  Illustrate by an example that a continuous
function may not satisfy a Lipschitz
condition on a rectangle. Also give an
example to show that the existence of
partial derivative of f{x, y) is not necessary
for f{(x, y) to be a Lipschitz function.

5+5

dx
b) i) Solve:a~7x+y=0

dy
—~ _2x-5y=0
=0,

ii) For the differential equation

d’y , dy
41)—=2—2x-ZL+2y =0, gi =
(X )dx‘ de Vi , glven y=x is

19/Math/H/IV (5) [Lurn Over]
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Full Marks : 60

\B)\ Este-1959
The figures in the right-hand nigpsin indicate
R

Candidates are required to give il Zmaweds"in

their own words as far as practicable.

Answer all the guestions.

\ GROUP-A

1. Answer any ten questions by choosing correct
alternative: 2x10=20
- weif 2rss Taq wie (A e Fdita 249) ¢

i)  The formula for calculating the number of
matches in knock out tournament is—

T ICT #HE (6 ciel e vt 2w —
a) n-1

b) ntl

¢) n(n-1)

[Turn Over]









o\

xiv) The time duration for senior mens kho-kho is—
=GR (AR =z e o A—
a)  6-5-6-5-6-5-6 min
Y-e-v-E-b-a-b 30
b) 9-5-9-5-9-5-9 min

S--v-e-v-a-> FIfD
c) 9-5-9-3-9-5-9 min
»-e-5-9->-a-» G
xv) Which is much ﬁlore important in aAschool?
<l T (DA Qe AR &2
a) Football Ground
FH4e] (RS MY
b)  Cricket equipment
s (el G
c) Gymnastics equipment
TerMIFTers el
GROUP-B
2. Answer any four questions: 5x4=20

-G AT vy TeR wie 8

a)  Write down about Intramural and Extramural

competition.

el @ SEeat eforifEe = @il

184/PEd/GE/IL [6]

b)  Write the care and maintenance of a playground.
(RIaTH NGO T @ AT TRACE (el

¢)  Write the importance of tournament.
DellICD @shy vl |

d)  Draw a fixture for knock out tournament.of 18
participating teams.
S 5 T SReISIEe AR T A<D W TNED BRI
Rrgpia teq vl

e) Write the care and maintenance of sports

equipment. G
i (RlEET FAGITE A @ SR PoI Tl
(Rl
f)  Write the advantages of League tournament.
el Geienesa vffadtefs el
GROUP-C
3.  Answer any two questions: 10x2=20

@-Crlee) v 16 deia ea e ¢
a) What is sports management? What are the
principles of a sports management? Write the
duties and responsibilities of a sports manager.
2-+4+4
el geEl e 97 Areel & K qvas @Ot
-7 FO @ MifEg A (I @1 |

184/PEJGEAL [7] [Turn Over]



b)

d)

What is the importance of time lable in school?
Discuss in details about the factors affecting
time table. | 3+7

femrema WeRpibla wag ¢ G 3 e e el
Felfde St O HATE [{EIRE SEnA 3|

Write down the Pre-meet work, During meet
work and Post meet work of athletic meet. 10
= Fe! aferifem wive 91E, o TR-a1 I
@ PLAE DIE ARCH =14 |

What do you mean by 'Leadership'? Write the
qualities of a good leader. 2+8

‘oY eE o @ (AR ugEE ©F el

GEHIANE 7Y |

184/PEJGEA] [8]

(1




Full Marks : 60 '_ Time - 24 Hours

 The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in

their own words as far as practicable.

ol Answer’ahy ten questions: - 2x10=20

| -G v eI e nIS 3 '

a) Who is the founder of Vis'istadvaitavada?
RFBFSTE 46T (-

~ b) Which tattva in Samkhya philosophy is neither
' prakrti nor vikrti? '

WW‘EG@%@WWWF‘
" ¢) What is yama?
TR ?

d) How many kinds of guna are admitted by
Sarmkhya philosophy? :

2= T TS I e RIPo 2

[Turn Ove:r]f



e)

g)

h)

k)

)

m)

176/Phil/H/ITT

Which philosophy is regarded as Sesvar,
Sarnkhya? '

IR e o 31k T AR 2

Who is the writer of Brahmasutra?

FEEIET AT (¥

What is meant by svagata bheda?

Fo[® (OF 00 8 IR 2

How many kinds of cittavriti are mentioned in
the Yoga philosophy?

@iae T Begfe 7 dai?

How many kinds of mahavakya are admitted?
F© I NZITH TP 2

What is vivartavada?

fersam 2

Who is the writer of Jaimini Sitra?
‘CeirE A T (2

What are the different types of sattd admitted
by the Vedantins?

What does Ramanuja mean by saguna

Brahman?

SHeyet g <eee G R gfRiETe 2
[2]

n)

0)

Answer any four questions:

What is meant by 'mithya’ in Advaita Vedanta?
Stae @ W TR s 6 @R

What is meant by svariipa laksana?

et e 0 T I

5x4=20

-G B 2R Se 1S ¢

a)

b)

¢)

d)

e)

176/Phil/H/III

Give a short account of the Sarmkhya view of
prakrti and the three guna-s.

21T '8 e FRCH ARG AR Ao i |
Discuss why the Bhatta Mimamsaka admit
anupalabdhi as a s&parate pramana?

GI MR SR (P FoF exlerieet
A ?

Bxplain the different types of cittavrtti after
Yoga philosophy.

st oe e el fregfeste Smetva 4 |
Explain, after Ramanuja, the relation between
jiva and Brahman.

NG TR IC G 8 G A I T |

What are the anupapatti-s raised by Ramanuja
against Sankara's doctrine of maya? Explain two
of them.

[31 [Turn Over]




*wawﬁammmwﬁﬂ%@%%
2 96 weetvie iR =

f) Explain the concept of ajfiana in Advaita
| Vedanta.
(@ (U TS TR Z7] Ko 4|
3. Answer any two questions: 10%2=20

@-CHIE 76 A Tea wle ¢

s

b)

Explain the Samkhya doctrine of
satkaryavada.

3182 S AL IR |

Discuss the doctrine of akhyati supported

Prabhakara Mimamsakas. Examine whether it
is acceptable.

AT NS 9 ¢ 73S Srpifews AR e |
Qb si2eEIe] ol ol Ko T

Give an account of Saflkara'_s view on the nature
of Brahman.

O 701 STHCE X W0 KR 718 |

d)

Discuss the Yoga conception of God and point

out the proofs for the existence of God after

176/Phil/H/II

Yoga system. 446
T A T T SEIv 9 @R
AT SR SRBGS NIfe] (A |

[4]
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The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any ten questions: 2x10=20

@G weifs dras Tez e ¢

)

b)

What is meant by 'Innate Idea'?

- e e P qE 2

Write, after Locke, different types of simple
ideas. '

What is Locke's view of complex ideas?
TP T e el 2

What do you mean by 'Solipcism'?
TR FECS [ A

How does Hume distinguish between impression

and idea?
28w it Ju9 @ YIRER Ty 212y S ?
[Turn Over|
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f)

8)

h)

m)

177/Phil/H/TV

What according to Hume are the laws of
association?

R it S frae i o o

Who is the author of "An Enquiry Concerning
Human Understanding"? '

S SRR IR RS eeEes agfba
RIS 52

Give an example of synthetic a priori judgement.
Gl 7257 AKosas SRERER Sizael Wi |
What is intuitive knowledge according to

Locke?

"SI 0O TSP S I A0 2

What does Kant mean by 'Categories of
understanding'?

FIT Iaa 2 et TER’ wice IR
Give two examples of analytic judgement.
s SR uib Swigse wle |

Why Kants' philosophy is called critical
philosophy?

FICETH TAT0 (e AR ool <l 22

What are the two characteristics of an a priori
judgement, according to Kant?

PIBT e AL s St g g & e

[2]

n)

0)

Answer any four questions:

What is subjective idealism?

EINEICAERI S

Give two examples of synthetic a posteriori
judgement.

ST AT SR 716 Swlae 7S |
5x4=20

-G BIRfb 2 Ted 7S ¢

a)

b)

¢)

d)

177/Phi/H/V

How does Locke distinguish between the
primary and secondary qualities of Matter?
T PO Teus A= @9 8 (Melufer W 21e
PCACRS ?

How does Locke refute the doctrine of innate
idea? Discuss. ‘

ST SN HGIS Al A% 2 ET6H!
Fel |

Distinguish, after Hume, judgements
concerning relations of ideas and judgement
concerning matters of fact.

R (3 SRTAet <0 el o1 s sriaet @
N9 R ST F A1 el |

How does Berkeley refilte Locke's distinction
between primary and secondary qualities?
Explain. :

A TSI e T8 @ (3T Weelq A1 ey
A2 IR e |

[3] [Turn Over/] .



LUS]

Explain, after Hume, the relation between cause
and effect.

RO T SR O IR 8 IR T 7 T
FA

How does Kant prove that mathematical
judgements are a priori and synthetic?
eI 1% 2= FE @, sifafos S<aiwe Jdeha
G AR ?

Answer any two questions: 10x2=20

@G 7T A3 Tea 7 ¢

a)

b)

d)

177/Phil/H/IV

Discuss the theory of abstract ideas formulated
by Locke. How does Berkeley criticise this
theory? Explain. SES
A RS qReTeg At 39| AFE Ford @2
TSI AT I 2 IR FC |

State briefly Hume's view on 'mitigated
Scepticism'.

TS FRHTA T2 (2 G XS FCCA <o |
Explain Kant's 'Copernican revolution' in
Philosophy.

(R 90 IR [ S |
Explain the role of God in Berkeley's
philosophy.

AIBCETE vE{Ce] PRI e Sl 64 |

[4]
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their own words as far as practicable.

1.  Answer any ten questions: 2x10=20
(- (T vl 2siE vea vl ¢
a)  What is vvabhicaragraha?
Fifestmes i

b)  What is the distinction between savyavicara and

virtiddha herviabhisa?
Aapfanla @2 [9em @grei A AR e

¢) Why paramar$a is called third linga

paramarsa?

AT (o1 Do fo75t oA Fet 2 2

[Turn Over]



d)

e)

)

h)

i)

What are the characteristics of sadhetu?
A ArEeE e

What is the definition of vvapti given in the
Dipikatika?

Rifstsillaptl ane w1 s1opel

What do you mean by samavvap? Give an

example of samavyapti.
A s [ R ¢ ARaia a3 Srige e |

Construct paramaréa of the following

inference:

e SEmGa s sion a9 ¢

The atom is indestructible, because it is partless,
st S, @Ee ©f fae

What is an argument? Give an example.

g B¢ 930 Tnrzar wie |

What is called self-contradictory proposition?
oLl qos Pl el ?

What is existential impott of proposition?

AW s Sleo #le

178/PhIVGE/H [2]

k)

n)

)

Answer any four questions;

It'some pocts are philosophers' is true then what
is the truth value of 'no philosophers are poets?
g 3 g s’ ey e e it v R
What is truth-tunction?

SIS F12

If'p = qis false, then what is the truth value of
qo~1?

M p o q et B o q 5 ~ ra7 HeTE S
Symbolise the following:

Both India and Pakistan do not raise the price
of'wheat.

oI T 3

IS e Sl SRR s it 5 o Al |
What is called distribution of terms?

ST et Ste

Sx4=20

(-CITAl afd Sl Tad wie ¢

al

I8Pl GE'H

Use truth-table to verify whether the following
arguments are valid or not; 2o
HSPIN Awfea Sl Ficiie YWeefE tave Rom
F4 8

iy AsSB/. As(AB)

ii) A.~ABv-B/:.A3DB

[3] [Turn Overf
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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten questions: 2%x10=20
@I wio deis ©ed 718 8

a)  Write any two features of the Marxist approach
to the study of politics.

AGATS AT AT gFex @ 1 @R

@14 | \

b) What do yoﬁ understand by Liberalisation,
Privatisation and Globalisation Model in Indian

politics?

IO AEANSTS SRR, FARpae @ g
NCTE FE0S 6 @R2

¢) Define political culture.
Ao FFoT A vis |

[Turn over]
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d)

g)

h)

i)

k)

1D

Point out any two important features of the
Indian Party system.

TSR el AR @&- I 4o @ e
Trardl 9 | '
Identify two criterias for being recognised as
a national party in India.

SIFteA TR we REid [gie Aleuld 96 1
e 79 '

Write the names of two regional parties in
India.

SRS Ui Sl AEnted wET AN @Y
Define dominant party system.

AT TR JFI AR vl |

Define caste.

Giced AR wie |

How does Marxism define class?

M @A FreE SRS F 2

What do you mean by politics of defection?
TRTSICR RGNS 00 (IR 2

‘Write two basic functions of the Election
Commission of India.

giaren FHiva shirem 9t GNfe $5 @4
Mention two important electoral reforms in
India.

THCSd @~ 76 FEIGT A S |

123/Pol.Sc/H/I (2)

m) What do you mean by criminalisation of
politics in India?
SIS AT TEI TS F RN 2

n) How would you define regionalism in Indian
politics? '
SlHed A0S SiEEoRTTGE el Ac@iire
FACE? !

0) What do you mean by Coalition Politics?
@5 AT s [6 @R

2. - Answer any four questions: 5%4=20

@I BRI ard Teq uls §
a) Discuss the basic features of political culture

in India.
SIS GG FFhed CaTs i) fet SeeTo=
741

b)  Write a short note on the disadvantages of
coalition governments in India.
e f&fen Fiera @l wRsiEs SR efEE Som
@b FxFRY BRAl 14|
¢) Discuss in brief the distinction between class
and caste.
@ @ Tted Ny 2MLe ARG ©Ied WA T |
d) Highlight the basic features of the secularism

in India.
oire iRerEsR Gkt @RweR wieiee
3|

e) Write a short note on the basic functions of

123/Pol.Sc/H/1II (3) [Turn over]



the Election Commission of India.
SIS b SRS Gl FEPSER B 930
e Bl @11
f)  Write a short note on the origin of the
Gorkhaland movement.
GRS SITHAGER S & 990 ALY Ol
(GGl
3. Answer any two questions: ; 10%2=20
- > dre Teg Wie
a) Analyse the rise and decline of dominance of
the Indian National Congress Party in Indian
politics.
A4 AGAIfOTS SIASE QISR $LH TieTd Sl
S SlEACTI #ISs Pl e w1
b) Do you think that the caste system in India is

a disuniting factor in Indian politics? Argue
your case.

(SIS S 30 28, OIS Trovfe-ayie T SITer
GRS CFGq @D FRE 2@ Aem? e
uhg | :

¢) What is meant by electoral reforms? Write a
note on the need for electoral reforms in India.
bl 11 FETCS 6 (IR 2 S0 bl FHIET
LRGSR 8917 GG Gel (14|

d) Analyse the major problems of a nation
building in India.

SIS ifs AT e 249 FEiele ﬁ(fﬁ‘! 9|

123/Pol.Sc/H/IL (4)
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Full Marks : 60 Time : 2'5 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any ten questions: 2x10=20
(P Wil SICIT TEF 7S 2

a)

b)

d)

Mention two main objectives of the Constituent
Assembly in India.

SIS AR b 2l Srae) S |

Write the name of two members of the "Drafting
Committee” of the Constituent Assembly.
SR BTG SR qee TWMEp N @R |
Name two directive principles which are based
on socialist ideal.

TGSl e e 8ol AFefe b FOEs AIod
T BeEd A

Mention any four fundamental duties of Indian

citizens. 4 |
SR WHEEa @I Bl Gl T S
el

[Turn over|



e)

g)

h)

i)

Identify any two exceptions to 'Equality before

]

law'.
ARG TS e AFS @I 7 e
fofes =91

Which part of the Indian Constitution includes
Panchayati Raj Institution?

OISR TR (I T ARIHSAS 777 Sz
Ity 2

Mention any four issues which are included in
concurrent list of the Indian Constitution.
SRR WS I Oitree Remefr W @-
el B SEe 391

How is the Vice-President of India elected?
CRCSH BoRIEARS frena e &2

Write the two cases where Rajya Sabha enjoys
more power than Lok Sabha.

P 7 CRGA EIRSTS S ArETel wifEs el
CSl%l T2 ;

Which situation can national emergency be
declared in India?

@I AR Srre wieh wwh w97 @R 54
JE2

Lok Sabha in India.

©I0ed ETRFTeIE 1t 7 FEfGw AN @)
Mention any two functions of a Chief Minister
of any Indian state.

SIRCS (S AT LG @GR 96 w1 S
Sl

124/Pol.Se/H/IV (2)

Write the name of two standing committees of

m) What are the qualifications for the appointment

n)

0)

Answer any four questions:

of a high court judge?

2RIGA FoaAfs BoliE Famwm ewE @isreRe
o e

What is the procedure of removal of Chief Justice
of Supreme Court in India?

TS JANW @51 24l [oleife el wem=e
9 IR 2 ;

What are the jurisdictions of Supreme Court in
India?

SIHCoR AW (TG TSR GEHiuf [ e
5x4=20

- o 2o S we ¢

a)

b)

<)

d

124/Pol.Sc/H/V

What is the meaning Gftwo words "Socialist" and
"Secular" as described in the Preamble of Indian
Constitution?

SIS MRFAET AT AsEelEe” qag
“epifeRCems ww qiba i &5 R

What is the importance of directive principles in
framing of State policy?

Ag ~AfprEE Afeng ffie frtree e veg
&2

Discuss in brief, the functions of the Speaker of
Lok Sabha.

ETRRTSIE S SIS RO Setiva] |
Discuss the writ petitions as mentioned in Article
32 of Indian Constitution.

SIS FREEETH 0% 7 4 SfaRie @=lef
P

(3 [Turn over]



e) What do you understand by Public Interest
Litigation?
- GeFld WNEl e [ @
f)  Write a short note on Judicial Activism in Indzan
context.
SRR @i RureiR Aezsels UAn b
A DIl = |
3. Answer any two questions: 10%x2=20
- (I g 2 T e 2 |
a) Analyse the "Right to Freedom" as guaranteed by
the Indian Constitution in Article 19.
SRR AR S 71 IR RS RO NEPR
BlEERRET :
b) Discuss the legislative relation between Central
and State Governments in India.
BIA0OT (3K '8 NS N SN2A- KT 721 S
Sl |
c) Discuss the role of Indian Prime Minister in the
context of coalition government.
(eGP AfceFFre wRred i wae g
A 1
d) Discuss the role of Supreme Court as the guardian
of the Indian Constitution and the protector of
fundamental rights. Sk
SIS TR SO R G (T T S
TEPS! AR AN @I S SEIG 4 |

124/Pol S/H/IV - (4)



126/Pol.Sc/P/11 UG/2nd Sem/PLSP/JEQ o l,li}?

U G. 2nd Semester Exammatlm}‘ / 2019

Course Code : PLSP/CC- Two

Full Marks : 60 ;{ime N

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in their

own words as far as practicable.

1. Answer any tem questions: 2x10=20

@~ Wi AF Teg we 2

a)

b)

d)

Name two Marxist thinkers in the study of
Indian politics.

SIFS FEHieR 2t wa MEan Sifgrd a
(ST |

What do you mean by Right to Equality?
G SIS T @

What are the "Writs' stated in the f\mc.le 32 in
the Indian Constitution?

e M 32 g SEe (Erelr e
Mention any two changes in the Preamble of

the Indian Constitution brought by the 42nd
Amendment (1976) of the Constitution.

[Turn over]



53 ARl TR (S5a%) AT TFER
AR SRERFICS SEIAl (& G 7o AR
Tz 54|

e) How many types of emergency situation exist
in Indian Constitution?
IO ARG T 2017 T S el A e

" f)  Mention two functions of the Vice-President
of India. ;
- SlArET Gomzefen uit wilad S w9

¢)  What is meant by collective responsibility of
council of ministers?
TEPTeE (MY wiigeel @ e & R

h)  Mention the date when the Indian Constitution
came into effect.
ol iffica Sigern fte slfa 2rfze ©f Sras
4|

i) . Mention the composition of Rajya Sabha.
AerAeta 5o ST 4|

i) Write two jurisdictions of Supreme Court.
A2y eB(rBe b el Trare 4|

k) What do you mean by Public Interest Litigation
(PIL)?
g S (PIL) < f ey

126/Pol.Sc/P/I1 (€2

)

m)

n)

0)

|89}

Answer any four questions:

What is meant by 'Patriarchy'?

‘ProvifEre!’ <wwe & @R

What is meant by 'Secularism'?

‘RSl e @RI

Name two environmental movements in India.
SRR TR bR E ORI DGR

Mention two peasant movements in India.
00T 46 T SCHEIE 15 SrEd 4|
5%4=20.

R~ Blafo ardd Ted wie 3

a)

b)

c)

d)

126/Pol.Sc/Prll ((.3)))

Write in brief the main ideas of the Gandhian
approach to the nature of Indian State.

SRS AT A0 TAE SNRAM [HEEE o
qraeliafe Sewe @14

Discuss any two differences between the
I'undamental Rights and Directive Principles
of State Policy.

@~ 5~ DA S

Write a short note on Veto powers of the
President of India.

Slred g Veto #@] 7 =g Gl
Gl

Whrite four functions of the Speaker of the Lok
Sabha.

FAIHCIE S B0 @e |

[Turn over|







SANSKRIT

[HONOURS]
Course Code : SANH/CC-T-111

Full Marks : 60 Time : 21 Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

iz m—grﬁméawmﬁ%maaﬂe@mm: THTE:

2x10=20

ST FERATI G e HaSTIHISAd ?
3T TSR T: <h: ?

‘goarq: TaEaton e 3o <hl &: ? W: T
e ? _ |

giG: el SITHAIAN ? IA1 312: Higefl Helid ?
gt 6y e fgEaam| "
351%5!!!0”: ﬁ@g‘ﬂﬁﬁg@?ﬁ?ﬁ?

“THAHST ARG qA Sa1G JTe HATTAAd ? hISH

TR bl ¢

/[ Turn Over ]



vi) ‘IreEmd, fremer’ =if yegmens: @

ity g s B T e e

aaiwﬁm TG e THRUIITISHa ?

i) PRy e w0 TS, STHE

SAYER M o)
X)  &: G SEIST BT T Aemdis i 7
xXi) HERTTERE TEAAH §Y HEAEREC e
EEERRIEISRIEY
xii) ‘arFEeT o feRfame @ S ST
STeeH 7
Xiii) WEAI: P HICHH SIS 7
Xiv) TLA=TRT TN AT AR G|
xv) [eEmafd: e et s qewaden i e
ferarfe wem: Hl’g‘m: Hﬁ'?
Write short notes on any four of the following in
Sanskrit or Bengali on English language:
‘ 5x4=20
i)  Nature of Laksmi
A&
e
Identity of $ukanasa

AHAEIRE:

180/Sans/H/III [2]

ii) - Punyavarma
quarEH{
HAYAT
Advices of Vasuraksita
SR IRTITICRT:
iif) Dandin ’
2ot
iv) éukasaptatikathé

NEazIIGEAN

v)  Ambikadattavyasa

SfFIRIET -~ T
vi)  Vetalapaficavim$atika
CrIGESIERITER]
Answer any two of the following. One must be written
in Sanskrit with Devanagari Seript: 10%2=20
a) Explain any one of the following in Sanskrit
lahguage with Devanagari Seript: 10
D s =

HATHIGU T ST T TR |
if) W@qmmg@qﬁsﬁml

180/Sans/H/IIT [3] [Turn Over]
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181/Sans/H/IV : UG/2nd Sem. /SANH!CC-T—IV/ 19

" U.G. 2nd Semester Examina

SANSKRIT /;f%
e

: [HONOURS] | l=| (Go R""!C

Gemse Code : SANHI A «

Full Marks : 60 S ; Hogrs
R\ ® 27
The figures in the ri vlzt—hand margin \I?m%m/‘fs.

Candidates are required to give their answers in

their own words as far as practicable.

. freafafgden 9= 958 = @91 YvEE SOl

LRI CaHTT e = iR Yedl
. 2x10=20
i) YIEIESIEH 3 (UE: weee wHhisd:?
Y YSEY s ?

i) 3Tg<h UM SAMed ST o % fauchl Safgdd ?

iii) ‘PAcgel agaT—3T g veea: foweEam|

iv) “HUMeqHAl: Ja —3fd PEEERY & Sl
EEICES IS LERAR GIE

V) W 58 Aid— G S aqes Fehid-Fer: v |

vi) T ST —3F T U e R
S|

vil) Tl TAH—59d |l U <l [afh: ? TaH 96
Sg?‘Tf%T: mi

viii) STeTeh: = YAl deArHey HieH ared aad ¢
IR TR (shaard|

[Tirn Over]



[

x) “‘Huwfem = —P@S@F{ = HNE gwé
: FUGTISAH, fereaT |

X) E@*ﬁﬁ sﬁwm-ﬁq@m?
xi) ‘g e mwﬁqwmam

xii) ﬁrw WW~%@T@H@E@ HH-

i) S-S P e 7
Xiv) S SRt e foemm)
Xv) e -SRI T foTeaaT | Saretuich S |

2. Answer any four of the following questions: 5x4=20

a) Translate into Sanskrit in Devanagariscript any five
of the following with the help of suffixes given
within the bracket: - 1x5=5
i)  See the moving train. (37d)

' TS FISGBCE 074 | (31)

ii) The girl is coming to me crying loudly. (39
TR CoHC G FHCS P07 |
(=),

iii) Parijata is going to watch a drama. (@9)
s 7oz @ R (GE)

iv) I should do this. ()

Sif @Gt =511 ©foe ) ()
V) He should go there. (de)
SIF GII Fhewl Bfbe ) (qd)

vi) Ravanais killed by Rama. ()

A FF AR 2D T | (3F)

181/Sans/H/IV [2]

b)  Translate into Bengali or English or Hindi any
one of the following passages: 5
§) T HeGH TTSdETH| G Wfew & Yelheh
fARaa | S = & T e SISt Fel
el T SR SR .
ii) E HIGR S wRifgEned afHsH |
" yeRreTeE e e TEIH, e
st TERTETe wee A W, °
[CERRERCHIEREREIR
. ¢) Explain the following sutra with Varadaraja
commentary: 5
W@Eﬁw
Tt 3| :
d)  Account for the case-ending-in of the underlined
- words (any five): 1x5=5
{)  OTEdISTETd il
i) ®Tg: TRl
iif) afer e sgum
iv) g wgEE S
V) fem g
vi) T 3 ey W]

e) Give the resulting forms of the following (any
five): 1x5=5
N+ T N B+ R Y+ RIS VL
\ T+ I N v

f)  Re-write the passage in passive voice: 5
SHITEE: PATEE e TR | T FHI: TSI

181/Sans/H/IV e [3] [Turn Over]




g9l 38 HIAME WHA 3USH| HIlAGE:
fedrr=Tas T SegadH|
3. Answer any two of the following sélecting atleast one
from each Group: 10%2=20
GROUP-A
Y=Y FHIHE Ya-9: U STATRIA=T =
feTead : 10x1=10
i) WRAEEEhdl THEIE T |
i) SHeTEEE: o Haeal
iii) SngfeREAS EIRTRET: (Face book) TS|
iv) ST SeEghe: |
v) feesmmaiiEfEm Shheshieen TRaase S|
GROUP-B
Answer any one of the following into Sanskrit or Bengali
or English language: . 10x1=10
i) How many $hcd¥cdd-s are there? Name them. Explain
the principal ¥J-s of Panini of Hcaucad-s with
examples along with the commentary of d¥cUs.
1+:2+7=10
HTAVCAAT: HidaGEIHIH? HIA I qTiA?
FeaTATRESIH TE TR Hieeiom
FCUSHA SATEATIA |
ii) Explain the siitra ‘WrfeaieepeifergaEOE="mE o=
with examples and the commentary of TGS
SRt R RO e g3 fed Elerat
SCUSHA SIREARIAMH |

181/Sans/H/TV [4]



182/Sans/GE/I UG/2nd Sem./SANH/GE-T-11/19

Candidates are required to give their answers in

their own words as far as practicable.

1. Answer any ten questions in brief: 2x10=20
- veeifh efos wfRY Sea e e

a) What is meant by TeRT=a? What are the two

divisions of it?
SIS AEE B (@I 2 47 D el I Fie

b) Who composed f&aiue:? In which royal
patronage he belonged to?

il (& To1 I R e g Aol
a2
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183/Sans/P/I1 UG/2nd Sem./S

U.G. 2nd Semester Examina

di Rai Coliege
SANSKRIT 131K400  pons) J5~

Full Marks : 60

The figures in the right-hand margin indicate marks.
Candidates are required to give their answers in
their own words as far as practicable.

1.  Answer any ten questions: 2x10=20

-GN weifB 2o Te S ¢

a)  Who was I1E? When and whom did he advice?
A (et 2 T 21, Sl oo Mrafecer 2

b) What is G&seR:'? Why it was so painful?
TESI:’ T GR (@& Ol wife S 2

¢) Whatis the source of “hIgFii—hTeaH ? Who was

- Hrer?

I A Fl 2 I (5 RCeT 2

d) What is ‘GTqfr1’? How did it destroy the

human?

PIGIERT 1 2 {6 St ©f WA RS e 2
e) ‘A TercguicEq —What does fall and from

where?

‘AR Tergaiery — (i (AT, F AT 2w 2
[Turn Over]



f)

g)

h)

j)

k)

183/Sans/P/11

Why does the IT¢: called TSITR:?

TATIE (1 2l FoTl 2 2

Where from @&H originated?

TR Geolfe @il (AP 2EE?

What are the four TsTferan’?

bl et o foe

How did f&3fa: remove the hunger and thirst of
PHAR?

Rpe R BATm P a9l Fame Feafeee?
In which kingdom did guremi rule? Who was the
next ruler after his death?

A (L A BT 2 S erE A o el
e

Whom did fa%d met in the fereamoag?

Rrwrrea w0t el o (74l s 2

Who composed Tdd=? Write the names of five
sections of I serially.

slpoq ATFI T (F 2 ALeF A SITs w1
G (574 :
Who is the author of ‘Fe&Hf:"? How many
stories are there?

“wpnalfis’ s12f6 T e G oty U s siesfere
JETR?

Who was known as ‘Bferel-iferet:'? Name one
text composed by him.

‘oafeler eIt i ¢ AT ¢ Si afbe @i arga
BIDNGEN

(2]

0)

2. Answer any four questions:

Write two names of the poets in Sanskrit prose-
romance.

ATFO starifarera W?ﬁﬁ‘ﬁ BiENGEH!
5%x4=20

- DS A Taq wie ¢

a)

b)

c)

d)

€)

183/Sans/P/L1

Write short notes on Fgs|
PISHH! 7= Bl @1 |

Write short note (any two):
Bl 14 ¢ (@@ 7°5)

i)  am=hfereh
IElE
i) ol
Pafire
i) I
TGy

Write the contribution of fFSsTeT=sIY in
Sanskrit prose-romance.

K IPIETST SRR SR T2l (14 |
Write a short note on s

frgeststl 5o Olit (=74 |

Translate into Bengali or English:

391f% w9 Tsam 6 ¢

FYIRIENSS G fe gl Jafia meremfern)
FeavEr 9 gefa femaer: fh A gwmmRgAfy A
TSl Wafd SeaaETia|

[ 3] [Turn OverJ




f) How many valuable elements emerged from
&IEP:? Why is S1&HT frickle minded?

AU A (A0S & & 2 vy Tfs
Al 2 o) (3 AR 2
3.  Answer any two questions: 10x2=20

@-@IET w5 arsa Teawls ¢

a)  Write the summary of advices given by J[-H
to =TS |
ST 2fS WA STz IR, (314 |

b) Discuss the characteristic features of FHTHES
according to fagaafa)
RFeb{ae SRETIE PG GG bEE @RBRTR
I 34 |

¢)  Discuss fully on Sareraafeaid and RamE-gIHRTH

in Sanskrit Fable literature.

ACFS  AFAIRTS] (FOlE  Awf[ele @R
FrapalfasHe i Rgifae Sl s

d) Explain any two with context: 5+5=10
2T ST (@I 7 To7 Iy 59 3
i) §EeHiE AEYEd|
i)  SIMTHEMEYT Weatadl @A Jqd ThaT|
iii) sEEEiuEioh = gaamfigraEmTH g o

183/Sans/P/II [4]



